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SHAEEZDREHEIL 38,538 U THIEREILL 133.1 WBIZH->TLVET,
LE/NDRRKED1ELEIL 852 % T, AIERBAICEEAR 6.3 RAUMELLE->TWWET,

(1) BREHE (BB k)
X % 4 T = 3 T E IR B EA L
T @ I E 956 633 151.2%
LB K E 36,876 27,736 133.0%
TBEKXKAKZE - 0 -
ETREEEME - - -
E— L X & 3 4 85.9%
E F B % 703 574 122.4%
& B 38,538 28,947 133.1%
(2) F#R LR (B2 %)
4 4 F E 3 F E
1% 2% EF5LE | AN 1% 2% FE5 L | BEEs
T @ N E 61.7 36.0 - 2.3 73.1 20.0 - 6.9
LT@E/NMKE 85.2 3.0 - 11.8 78.9 3.4 - 17.7
ETEKXKAKE - - - - - - - 100.0
LTREEME - - - - - - - -
E—JL XK & 92.2 - 7.8 - 100.0 - - -
2 RERNREHRERUVERLE (BEGE: k)
X % m fE A REME 1% 2% FHNE | B =)
PEEHDS 547 46.1% 51.2% - 2.7% -
BEHERXIE 278 98.2% 0.4% - 1.5% -
s IEDED 54 98.6% - - 1.4% -
HEINE Igms 42 - 100.0% - - -
OfiRalL¥x 15 - 85.5% - 14.5% -
ZDfth 21 56.8% 43.2% - - -
T7AIN—R/Y 34,253 85.8% 2.2% - 12.1% -
Eh5%FbLH 2,404 84.7% 6.2% - 9.1% -
LB KK EZ/YLE 178 1.1% 95.9% - 3.0% -
RO T7A 13— 17 40.4% 48.2% - 11.4% -
Tt 24 - 94.4% - 5.6% -
TBEKXKAKZEZ -
TREEEME -
E — L XK E|ZDfh 92.2% - 7.8% - -
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SHAEEZDREREIL 696 M THIFERHALE 153.9%ICH>TLVET,
LE/NMRRKEDI1FLEL 05 % T, BIERIAICEAR 1.2 RAUMESESTWET,

(1) REHE (B o)
X 7 4 =3 E 3 =3 E X RTE R HA L
T @ N E 337 148 228.7%
LB KK E 358 305 117.6%
ETEKXKAKE - - -
EBEIIEMNE - - -
E — L X &£ - - -
2 ¥+ A % - - -
& H 696 452 153.9%
(2) FEHRLE (BA{S1: %)
R 4 = E = E
X %
1% 2% F5E | B 1% 2% E5nLE | FHEs
L @ N = 9.0 90.9 - 0.2 18.3 80.6 - 1.0
LTo@mNHKE 0.5 95.7 - 3.8 1.7 98.3 - -
TBEKXKAKZE - - - - - - - -
TEITEMNE - - - - - - - -
E — L X & - - - - - - - -
2 GEIREHERVEHRLE (BAI: )
X % 2 £ BREH=E 1% 2% F5E | B =Xi
ELEHS 289 10.5% 89.4% - 0.2% -
LT@EINE BES 42 -|  100.0% - - -
ZDith 7 -|  100.0% - - -
/) LX 178 1.1% 95.9% - 3.0% -
LTEMIKE  |IZRI3FBD 158 - 94.8% - 5.2% -
ZDith 23 -|  100.0% - - -
TBEKXKAKZEZ -
TEITENE -
E — L X & -
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SHAEEZDREHEL 13,394 O THIERBALE 130.6 BIZHE->TULVET,
LTE/NDRRKEDT1EHEIL 86.0 % T, BIERBAICEEAR 22 RAUIELLZH>TWET,

(1) BRERE (BEGE: k)
X % 4 T = 3 T E X RTF RIHA L
T @ I E 123 97 126.5%
T@EMKHKE 12,991 9,904 131.2%
TBEKXKAKZEZ - 0 -
EFIXENE - - -
E — L K % 3 4 85.9%
B F B % 276 254 108.8%
=) 5 13,394 10,259 130.6%
(2) F#R LR (B2 %)
4 4 F E 3 F E
1% 2% F5LE | AN 1% 2% E5 L | BB
T @ N E 97.7 - - 23 95.0 - - 5.0
T @K KE 86.0 0.2 - 13.9 83.8 0.4 - 15.7
TEKRAKE - - - - - - - 100.0
LTREEME - - - - - - - -
E — L K & 92.2 - 7.8 - 100.0 - - -
2 RERNREHRERUVERLE (BEGE: k)
X % m fE A REME 1% 2% FHNE | B =
PEEMNDS 70 96.9% - - 3.1% -
T & N E|SEDEDS 54 98.6% - - 1.4% -
N - ZZ;;H;\—Z/W 12,99(1) 86.0? 0.2? : 1 (1) 3:2: :
TBEKXKAKZEZ -
EFIXENE -
E — L X Z|Z0Dih 92.2% - 7.8% - -
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SHAEEZDREHEIL 6,256 M THIERHEALE 129.5 BIZH->TULVET,
LB/ RKED1FLEL 742 % T, BIERAICLER 9.8 RAUVIELEH>TVET,

(1) BRERE (BEGE: k)
X % 4 T = 3 T E *I R B HA L
T @ I E 205 180 114.0%
LToBmNHOKE 5,942 4,628 128.4%
TBEKXKAKZE - - -
TREEEME - - -
E — L X & - - -
B F OB % 109 21 516.4%
& B 6,256 4,830 129.5%
(2) F#R LR (BT : %)
4 4 F E 3 F E
1% 2% EF5LE | AN 1% 2% EF5 L | BB
T @ N E 75.1 18.0 - 6.9 81.0 4.2 - 14.8
LT@E/NMKE 74.2 12.2 - 13.6 64.4 12.8 - 228
ETEKXKAKE - - - - - - - -
EBEIIEMNE - - - - - - - -
E — L X & - - - - - - - -
2 RERNREHRERUVERLE (BEGE: k)
X % m fE A REHE 1% 2% FHE | B =)
PEEHDS 188 82.0% 11.6% - 6.4% -
T @ /N EFPAARILT 15 - 85.5% - 14.5% -
ZDfth 3 -|  100.0% - - -
T7AIN—R/Y 5,925 74.3% 12.1% - 13.6% -
@KLK Z|RITAT7A 13— 17 40.4% 48.2% - 11.4% -
ETEKXKAKE -
EBEIIEMNE -
E — L X & -
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(1) BRERE (BEGE: k)
X % 4 F 3 3 F = XETEREI L
& @ N = 290 208 139.9%
EENHAE 17,584 12,900 136.3%
TEARKAKE - - -
EREE,E - - -
E — L X & - - -
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& E 18,193 13,406 135.7%
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ERBEENE - - - - - - - -
E — L X & - - - - - - - -
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JUR fRHEKXIE 278]  98.2% 0.4% - 1.5% -
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